ITB2211: Information Technology for Business I
Assignment #3 is due on Thursday, October 2, 2014 @ 5 pm
Section A
1.
Which is/are the main provisions of Information Technology (IT) Act, 2000?

(a)
Finalization of contracts through electronic media.

(b)
Legal recognition to digital signatures and documents.

(c)
Making hacking with computer system an office.

(d)
All of the above
2.
Terminal is a

(a)
device used to give supply to a computer

(b)
Point at which data may leave or enter the computer

(c)
point where wires are interconnected

(d)
an input/output device
3.
A microcomputer consists of at least an input unit, an output unit, microprocessor 
unit and a

(a)
stabilizer

(b)
memory unit

(c)
printer

(d)
network
4.
The following are some of the categories of computers:


I.
Microcomputers


II.
Supercomputers


III.
Midrange Computers


IV.
Mainframe Computers


V
Workstations


Which of the following is the correct order of their function capability?


(a)
I,
II,
III,
IV
V


(b)
I,
V
III,
IV,
II


(c)
I,
V
III,
II,
IV


(d)
I,
II,
V
IV,
III

5.
Which of the following statements is true?

(a)
Minicomputer works faster than Microcomputer

(b)
Microcomputer works faster than Minicomputer

(c)
Speed of both the computers is the same
(d)
The speeds of both these computers cannot be compared with the speed of advanced computer
6.
Which of the following is the most powerful type of the computer

(a)
main frame




(b)
super conductor

(c)
micro computer



(d)
super computer
7.
One of the main features that distinguish microprocessor from microcomputers is

(a)
words are usually larger in microprocessors

(b)
words are shorter in microprocessors

(c)
microprocessor does not contain I/O devices

(d)
computers are not fully integrated
8.
IC chips used in computers are usually made of

(a)
Lead





(b)
Silicon

(c)
Chromium




(d)
Gold
9.
What is the control unit's function in the CPU

(a)
To transfer data to primary storage.

(b)
To store program instructions.

(c)
To perform logic functions.

(d)
To decode program instructions.
10.
The CPU consists of

(a)
input, output and processing

(b)
control unit, primary storage and secondary storage

(c)
Control unit; arithmetic logic unit and primary storage

(d)
input, processing and storage
11.
The central processing unit (CPU) uses which of the following to store and retrieve each piece of data or instructions in memory?


(a)
Control unit


(b)
Arithmetic/Logic Unit (ALU)


(c)
Cache


(d)
Registers

12.
Arithmetic logic unit

I
perform arithmetic operations

II
store data

III
perform comparison
IV.
communicate with input devices
Of the above, the correct one is

(a)
I only

(b)
II only

(c)
I and II only

(d)
I and III only
Section B
13.
“Wearable PCs are full-featured computers, with all the functionality of a traditional desktop or mainframe computer. They are specifically designed to incorporate heat-mounted displays and vocal recognition software”.

(a)
What are Wearable PCs?

(b)
List and explain eight applications of Wearable Technology.

14.
“Wearable Technologies are presently widely used in diverse industries”.

(a)
Mention and discuss some areas where Wearable Technology is used;

(b)
Give some examples of Wearable PCs.
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